Part [ / 4T I
Aptitude Test / HIW&Ta qdteror

1. Which amongst the following is more
earthquake resistant structure ?
(1) Brick in cement - sand mortar
(2) Steel frame
(3) Stone masonary
(4) Brick in mud mortar

2.  Houses located on which slopes in hills will
get more sun in winters ?
(1) On slopes facing East
" (2) On slopes facing South
(3) On slopes facing West
(4) On slopes facing North

3.  Which place in India has French influence
in Architecture ?
(1)Chandigarh
(2) Pondicherry
(3)Andaman
(4)Goa

4. Which one of the following is not a
renewable energy source ?
(1)Solar power
(2)Fossil fuels
(3) Tidal waves
(4)Wind power

5.  Eiffel Tower is made of :
(1) Concrete
(2) Steel
'(3) Stone
(4) Bricks
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5. Ozone layer around the Earth prevents | 6. 9% & I &R, =i =1 9, frus w@Qw
penetration of : FE H Tl &2
(1) Sound waves (1) =&fqmH
(2) Excessive heat (2) Fafas TH H
(3) Infrared rays (3) FrEE fael =
(4) Ultra violet rays (4) AT Rl
7. Red sand stone is not used in : 7. T IO Yok & yan fHes e e man?
(1) Fatehpur Sikri (1) e ¥ ¥
(2) Taj Mahal () TR §
(3) Humayun's Tomb (3) E’H‘Iﬁ' F e §
(4) Red Fort (4) == fwa H
8. Inthe Northern Hemisphere, lightentering | 8. 3Tl ey #, T&% &W H fo® AR | yaw
from which side of opening in a room is Al g3 AT, TR T e o W g ?
more uniform throughout the day ?
(1) North (1) W4
(2) Eas: (2) T{é 7
(3) W (3) ufeq &
(4) South @) TEms
9.  Which type of roof will provide maximum | 9.  UF 3AWd &I Sw1 fafewworm ¥ sfsad qean
protection from heat radiation in a % foru o o =1 B9 &1 7M1 911 ?
building ?
(1) Concrete slab with plaster (1) T (plaster) AT HFHIE i
(2) Concrete slab with mud and brick (2) TR 2R L& anh e F WY FH
tiles =
(3) Concrete slab water proofed and (3) A T TH T A AYF Fpie WA
covered\with a roof garden
(4) Painted aluminium sheeting (4) Yz =1 g tghatt IR et
10 Which one is the oldest structure from | 10. Fr=fafaa § ¥ Wa® qOT €= (structure)
:mongst the following ? FA-FE?
(1) Ajanta caves (1) &S &I TR
(2) Pyramids of Egypt (2) fm= % fufas
(3) Parthenon of Greece (3) THF W
(4) Panama canal (4) A AR
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11. Burj Khalifa is located in : 11. & F@eH w7l frga 27
(1) Abhu Dhabi (1) =g o |
(2) Dubai (2) TEEH
(3) Saudi Arabia (3) WI= AAEH
(4) Oman (4) HAHAEH
12. Mohenjodaro and old Jaipur are planned | 12. TeA=ETgl A 09 AL &1 T3 =T
on smenfia %2
(1) Grid Iron pattern (1) fog sm@ d w
(2) Linear pattern ) TEm (EfER) Tod W
(3) Organic pattern (3) erifar T =
(4) Radial pattern (4) Teia (Radial) 729 =
13. Maximum amount of fresh water in our | 13. #9% 7€ ¥ ¥ad fus wg wH (7 F4l
planet is trapped in : FHIR?
(1) Lake Victoria, Africa (1) == fE=fm, awE o
(2) Polar caps (2) & ot |
(3) Dead sea (3) Hd (Dead) ¥R ¥
(4) Lake Eirie, US.A. (4) e gwEn H
14. Famous Akshardham Temple is located | - 4. WiHG &R af=7 Fa fem 27
at :
(1) Ayodhya (1) e |
(2) Kathmandu 2) w=Ewig
(3) Delhi (3) fTeoett
(4) Mathura (4) #AgUH
15. What causes Tsunami in an ocean ? TEETR # A A T F FA §
(1) Trade winds (1) fere (Trade) 7
(2) Farlhquake on sea bed < (2) EHE 99 W YA
(3) Ocean Tides (3) TR SERHR
(4) Ocean Currents (4) TEEFTH Hﬂ'ﬁ(m} -
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Directions : (For Q. 16 to 19). Find out the total number of surfaces of the object given in the problem
figure.

- (T 16 R19&F @)1 797 37r3fa 7 30 0 3G & el %1 $ol G&7 70 F717 )

Problem Figure | ¥¥9 Srgfa

(2) 17 (3) 18 4) 14
(1) 23 (2) 21 (3) 24 (4) 22
18.
1) 19 2) 20 (3) 17 4) 18
R

(1) 16 17 (3) 18 (4) 15
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Directions : (Fdr Q. 20 to 22).

fdor: (920 @22 % fo@) 1

Problem Figure | 597 371l

20.

21.

Directions : (For Q. 23).

fadsr : (W 23 & @)

O
e

The problem figure shows the top view of objects. Looking in the
direction of arrow, identify the correct elevation. from amongst the
answer figures.

=T =T TRy O O eOaT TEt mImiE S5 US|

Answer Figures / 3t 377?73'77&

ol o o

i

il AT AT

o~ OO . o - R
IQOC () e £ 5 Mg - L] — LI ]
[~ 000 Hlo =Hd (A Hl 0

AN (1) (2) (3) (4)

Which one of the answer figures will complete the sequence of the three
problem figures ?

T SFTA 7 T BT ST I @17 797 FFFF 3 o G AT
(sequence) I &l ST |

Problem Figures / F%7 sy teEr Answer Figures | 377 3ol
7 A/
v O O P, OIS
23. O + ? Q\———Y\/é “:’@ '
2) (3) (4)
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Directions : (For Q. 24 to 26). The problem figure shows an object. Looking in the direction of arrow,
identify the correct elevation, from amongst the answer figures.

Frdor : (.24 W26 & [7T)1 797 o1l A e g @ fa@r T €1 AR 1 IR 7 S g S
srpiae & 9 9 98 e g9 Tednig/

Problem Figure / F¥7 STl Answer Figures / 3T 3777?"572#
2 & % A )ﬁg ﬁl
l |0 ] 1 1
/N (1) 2 © ©

N

- 1 1 E s 55
) (2) ®) (4)

26. ~ F[E_L @i @1 FI%_L |
L L 1 L 1 l
(1) ) 3) )
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Directions : (For Q. 27 to 30).

frdor: (W27 @30 % fe1Q) |

Problem Figure / 37 STl

Which one of the answer figures is the correct mirror image of the
problem figure with respect to X - X ?

I Flad @ @ FT-TF ST &1 TE FIH HFT F X - X 17?2%’?
g e &2

Answer Figures | ST STl

X
| — = T

Ligfumm g i

X (1) (2) (3) 4)

X

ar4 XN o= N ~N

. DSOS “ulliv Nl (8

S ® L@ @) @

X

|
|

29. 5 ] = #Lﬂ (= = =
u 15 I
X 1) (2) &) (4)
X
30.
/
: ® @
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Directions : (For Q. 31 to 35).  Which one of the answer figures, shows the correct view of the 3 - D
problem figure, after it is opened up ?

Fdor: (W31 @35 F W) 3-D 797 STl &) @t T, IR ST 7 & 597 T8 599 F-
TE?

Problem Figure / Answer Figures | S STfaar

F9 ST

[[ 1]
1]

[ 1]

l

|
|

[T
|
LLLH
[T

~~
—_
N
A=
N
p—
—~
[¢8)
N
—
>
g

[
Ll

[
r
T

o B (R D] o] ]

11

11
[
[

Bl
LI
L]
L1

—~
—_
~—
~~
N
~

3) 4)
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Problem Figure /

g SFI

S |

Answer Figures | TR SHar

3

[T

1

T

LT ]

L

[ITT -1

S
—
~

[IT

—
N
—

i

—
(%)
~—

[T

=
e’

[TT1T]

il

S

[T T[]

[ 11

1)

L1

]

—~

2)
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Directions : (For Q. 36 to 45). The 3-D problem figure shows a view of an object. Identify the correct
front view, from amongst the answer figures, looking in the direction
of arrow.

fidor : (W36 @45 & @)1 3-D F97 ST ¥ U TG & O g9 W e €1 AR 5 e
5 2@ 5u, T UE 9gE g9 F SR P 4 9 AT

Problem Figure | 997 STFHIT Answer Figures | S STl
1) ) 4)

« =1 B B E

@ |
R

) © @ @
(1) 2 ©) 4
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Problem Figure / H37 St Answer Figures / ST At

41. N
—
(3) (4)
= 20
3) (4)
43. @
'\ = | | ——
1) (2) (3) 4)
44, @ Jk JAN A}”
- Pai=N = el =
L ) (3) @
45. @ FL*% 1 T ]
5 - — L T I
@) 2 3) (4)
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Directions : (For Q. 46 to 50). The 3-D problem figure shows the view of an object. Identify its
correct top view, from amongst the answer figures.

T : (W46 G50 % f@) 1 3-D 797 sy@hfa & U% a%g & @ 71 &1 9% 75 w9 597,
W aFHlaE § @ vEN) ‘

Problem Figure / 997 3Tl Answer Figures | 3T SHaal

@
S

M ) ®) @

47. =ils O 0 M |
1y ) e W

" — —| = —
O O

) @ @) @

- @ SR SR &

‘ ‘ ] H ] 1
| | i I

& @ @) @

50. @ ——j J'—I_l ] —I_l JZH_l

[ 1 1 1
M @ ®) @
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Part Il / ST II
Mathematics / fuTa

- A AN A — A A e A A A = A A

51. Letx =2i+j-2kandy =i+ j.If[51. "M x =2i+;-2kaqMy=1+] &l

= |- - i =Y
; is a vector such that x-z =’z 2 Ife ; T REI e 2 % 1z = !z ;
- = - —| - = —
z — x| =22 and the angle between z — xi =22 @ ¥ X y A z H G
- =¥ - (= — -
X X ¥ and z is30° then the magnitude 30° T S0 B, @ Fiew (x x },’] X z ]
- - - X
ofthevector(x X y)x Z ig: EIECI R
c) >
® 3 M 3
1 1
2) 3 (2) 3
3\/§ 3\43
3 b i 2
@G — G =
3 \/3
@) - 4 -

52. The line 2x +y=3 intersects the ellipse | 52. I 2x+y=3, AEGT 4x2+y2=5 H T
4x2+y?=5 at two points. The tangents to fgdi Ryt =@ & A m m &=
the ellipse at these two points intersect at fagetl w &= = =9 W, = | W
the point : yfasse w1 ¢ -

2 2 5 5)
o (33 w (%3]
55 (5 5)
% 153 @ |37%)
5 5 5 5)
3) 3’ o (3) ey
L 5 5)
(4) 6’ 3 i 6 SJ
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53.

If the points (x, —3x) and (3, 4) lie on the
opposite sides of the line 3x—4y=38,
then :

53.

afg fog (x, —3x) 1 (3, 4), T&1 3x—4y=8
&1 faudia feemedi 7 €, 1

1 X . if 50 e 1) x> - > =
(1) %P5 ¥> (1) CHEAGET:
2 X< —8— 1 :—8 2 ¥ & _8_ < ___§
( ) g ]5/ ‘/ 5 ( ) 15, y 5
3 X = i Y= _—_8. 3 X = _8_ == :__§
@) *=35 V=5 ®) 15 Y7 5
4) x> g et 4 x> 8 =8
(4) 15" Y=< 75 ) 57575
54. If p and q are chosen at random from the | 54. ?Irﬁp’d%ﬂ q=4{1,2,3,.., 10}"3@'&@%@[,
set {1, 2, 3, ..., 10}, with replacement, then gfaeemg gfeq, ﬁﬁ SiG] %, SR IIRETIRCT]
the probability that the roots of equation THIER x2 +px+q=0 F HA IEATH T,
x%2+px+q=0 are real, is : ?: :
9 9
b33 B 5
y 2 »
(2) 50 (2) 50
s 13
@) 55 G 75
g 3 31
@ 5o @ 5
55. Thenumber of integer values of k for which | 55. k & 37 qUuifehld Al &1 g, fa& fo
the equation ¥?+y2+ (k—1)x—ky+5=0 T 2+y2+ (k—1)x—ky+5=0 TH
represents a circle whose radius cannot T g9 Fefya ar § et e 39 =€
exceed 3, is : T, T
1 11 1 11
2) 4 (2) 4
3 35 (3) 5
(4) 10 (4) 10
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56. Let f(x)=[x] where [x] be the greatest | 56. UMIf(x)= [x] SRl [x] T AL T : 2 F T A
integer less than or equal to x, x N HH TeE T T,
0o , xeZ s S xelZ
g(x)=_{x2 , xeR-Z 8M=142 , xeR-Z
Z is the set of integers, &(x) = (fog) (x) and Z ‘{Vﬁﬁ FT THT T, d(x)=(fog) (x) T
U(x) = (gof) (x). Then, on the set R—Z: $(x) = (gof) (x), W TEAR—-Z W :
(1) neither & nor ¢ is continuous. (1) T T WA 2|
(2) ¢ is continuous and ¢ is not 2) o Had 7 e | Had Tol 7l
continuous.
(3) U is continuous and ¢ is not (3) W Ead T 91 & Had el
continuous.
(4) Dboth & and i are continuous. (4) STATY ST Haad ¥ |
)
57. If in the binomial expansion of 57. =2 (14x)® ¥F g 7R ¥ afe v 991 &2
(1—x)™ (1+x)", the coefficients of x and o UMk SEHRT: 3 94 —4% T m:nF AII@
x2 are respectively 3 and —4, then the TE T
ratio m : n is equal to :
(1) 8:11 1) 8:11
(2) 10:13 2) 10:315
3) 7:10 (3) 7:10
(4) 10:7 (4) 10:7
58. Let P(x, v, z) be the foot of the 58. #A1 a5 Q0,2 3)F @
perpendicular from the point Q(0, 2, 3 : Y : L ; iw e T el S
onthelinex;3=y_2—1=";4‘ E P(v, v, ) ¥
If R denotes the point (=3, 1, —4) and A g R g (-3, 1, —4) T & qAMA, APQR
denotes the area of the APQR, then 2AZ is F1 ST TIA E, T2A2 T T ¢
equal to :
(1) 418 (1) 418
2y 399 2y 399
(3) 378 (3) 378
(4) 798 (4) 798
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59. The values of k for which each root of the | 59. k& 3 5M 57 foQ gHT
equation, x¥2—6kx+2—2k+9k2=0 is x?—6kx+2-2k+9k?>=0 1 ¥IF T 3
greater than 3, always satisfy the ¥ 991 g, = srafua (inequality) ﬁ B
inequality : [T FITR
(1) 11-9y <0 (1) 11-9y<0
2 29-11y >0 (2) 29-11y >0
(3) 29-11y<0 B) 29-11y <0
4) 7-9>0 4) 7-9y>0
60. Let y(x)=(1+x) (1+x%) (1+x%) .. 60. AT y(x)=(1+x) (1+x2) (1+x%) ...
(14+x32). Then W st LT (I3 E W x = 1x% 5w ®:
dx 2 2 dx
1) * 1—63 & i 1) 1-63 'l—fél
(1) 1-63|3 o 2 )
1 62 1 62
(2) 4—65[5} (2) 4-65 E)
/1 \64 1 64
(3) 4-63|5 | (3) 4-63 5
4) 1-65 = i
@ 1-65; -65(5 J
61. If the point R divides the line segment | 61. 3¥fg fog R, forgaii (2, 3) A1 (2tand, 3sech);
joining the points (2, 3) and (2tan#, 3sec); 0<#6< -g- %1 e I Y@m@ETe w5
w . . + -
0<6< 5 externally in the ratio 2 : 3, 2:3 % SRl 3TN § s §, @ R =1 fagay
then the locus of R is : ?:
(1) anellipse length of whose major axis (1) TF U1 <rega foas <l o7et &1 oferg
is 8. 8%l '
(2) a hyperbola length of whose ) T TH Afaaaes e oy e
transverse axis is 12. 1 a8 12 B
(3) a hyperbola length of whose (B) T T Afawaerd foas ITIIEY Y
transverse axis is 8. I AAE 8 T
(4) anellipse length of whose major axis (4) T UE Srega fodes €Y 37et Wi e
is 12. 1281
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62. In a car with seating capacity of exactly | 62. T& &R, foed qeam: (exactly) i =t S8
five persons, two persons can occupy the Td ¥, & Al ! 2 W IS TH E,
front seat and three persons can occupy e I AR froe T w ?3 SECR AL
the back seat. If amongst the seven persons, 7, MW FRFT I FTATRAE, § |
who wish to travel by this car, only two of Fa8 A FR FAF TG €, 91 I qlIhl bl
them know driving, then the number of e, S R I 9f ® 997 S 5 =5e
ways in which the car can be fully ST, R
occupied and driven by them, is :

(1) 60 (1) 60

(2) 240 (2) 240
(3) 720 (3) 720
@) 360 )4) 360

63. The area (in sq. units) of the region | g3 =z , = Jr aen sl y=0, y=x—2 N
bounded by the curve vy = Jx and the M T T (T EEa §) §
lines y=0, y=x-2, is :

8 8
@ 3 O 3
2 2 5 2
@ 3 @ 3
16 16
@ 3 @) 7
10 10
@ @ 3
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64. I J.—i-_igé—dx =Alog |x| + 64. uﬁ;jl;xg—dx:m% x| +
x(1+x ) x(l +x9)
B log|1+x%| +C, then the ratio A : B is Blog |[1+4°| +CT A : B = s*":f—r -t
equal to :
1 2:9 ) 2:i9
{2y 9:=2 (2) 9:=2
B3y 9:2 B3 9:2
4 -2:9 4) -2:9
65. The system of linear equations 65. as weiEmw e
x—y+z=1 x—y+z=1
Xx+y—z=3 ) Try=g=9
v—4y—4z=q has : x—4y+dz=o F/F :
1) a unique solution when a=-2 1 T EEE R R g e=-2%
(2) an infinite number of solutions, (2) FESATAL TIa=2%!
when a=2.
(3) an infinite number of solutions, 3) FEHSTAE T a=-2%I
when a= -2.
(4) a unique solution when a=2. 4) T Afgd A € T =2 %
66. If |z;|=|z|=]|z3|=1and 66. a’ﬁ]zl|=lzzl=|23|=1ﬂm
z1+2,+23= 2 +i, then the number Zy+2y+23=+/2 +i ® q FE&
212y + 2223 + 2321 is: n1zy + 223 + 2371 ¢
(1) a negative real number (1) T RMHS qRaras 9 ¢l
(2) always zero (2) WA g
(3) a purely imaginary number (3) TS Y& FHCUMTH §E&A ¥
(4) a positive real number (4) TH YA qraiasd 9= ¥
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67.

68.

69.

If the line ax+by=2, (a#0) touches the
circle x2+3?—2x=3 and is normal to the
circle x2+y2—4y=6, then a+b is equal
to:

-5

1) 5

-1

@ 5
@ 7

-4

@) —5

The statement

[PA(P—9)]—>q, is :

(1) a tautology
(2) neither a fallacy nor a tautology
(3) not a compound statement

\(4) a fallacy

1

2 Xy
The integral J = (2/ *) 77 dx is
0(1—2x)2 1+ x)?2
equal to :
(1) Be-1

67.

68. )

gfe W1 ax+by=2, (az0), I
24+y2—2x=3 FI Y FIA ¢ TA gA
X2+ 12— 4y =6 HT AT T, A a+b TERX

g

-5

1 3

-1

2

3 L

®) 3

, ~ 4

(4) 3
EE!

[pPA(P—9)]—q :

(1) T& TTe(H (tautology) T |

(2) 7 I ® R T 7 R T
(3) TH HIF (compound) FUF T ?
(4) UF T (fallacy) T

@) 3 4)  V3e
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-~

70. The maximum value of 70. e LO, %—J ¥ f(x)=2sinx +sin2y 1
f (x) =2sinx +sin2x, in the interval aTfYeRae AM R )
g
0, =m| is-
[ 2’“’] is :
1) 243 1) 243
5, 38 ) 3v3
2 = 2
3) 3 @) 3
4 2+1 @ V2+1
71. Two vehicles C, and G, start from a point | 71. M| C, G, S TE & fag P% d %“T
P and travel east of P at the speeds R e 20 foh.H . /5er qen 60 fF.4. /==
20 km, hr and 60 km/hr respectivelv. If =1 T T AR FA | IfE TF I8,
an observer, one kilometre north of P, is FPE1FF. ST R E TE g% F;
able to see both the vehicles at the same & ¥ 999 W <& TFd 5, 71 I&F EM
time, then the maximum angle of sight G au G, H @A W T I B0 FH
between the observer’s view of C; and C,, STfeeray 7 ®
185
—1( 2 A 2
tan " — tan” | —=
O [ \/g) 1) ( Jg]
2y = oy
@ ¢ @ =
LB (B
(3) tan [—2—] (3) tan (—Z—J
0 11'
@ 3 @ 3
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72

73.

74.

The general solution of the differential

equation y dy+ /1 + y? dx=0 represents
a family of :

(1) ellipses other than circles.
(2) hyperbolas.
(3) parabolas.

(4) circles.

1
In a binomial distribution B(n, p= 1 ] if

the probability of at least one success is

9
greater than or equal to 10" then n is an

integer greater than :

1 — logyp9
1) logiy4 + logy,3

!
@) logyy4 ~ logyy3

(3) log;y4 + log3

®) logig4 — logyy3

Let f : R—R be a function defined by

e — o

flx)y= —, then fis :

X

(I) one - one but not onto.
(2) onto but not one - one.
(3) neither onto nor one - one.

(4) one - one and onto.

7Z.

78;

74.

FEHA THHEW y dy+ /1 +y? de=0 &

=9 g 1 7% Fa w1 | R

(1) W(?ﬁ‘?ﬁﬁm)l

(2) srfauEerE! |
(3) el |
(4) =

" / i
WWWBN,}D=I = afc &9 ®

K 9
FH TF 9heidl &I Jiigswal ﬁ?ﬁ ELELSe

sty T, @ 71 § 9 qoris n g I dm ?

)
1- 1Og109
(1) logg4 + log,3

1
(2)

© loggpd —logyy3

1
1

" 3
logp4 + logy3

9

logjp4 — logy,3

W_f:R—)RQTW%?ﬁ

f(x)=ez—_e__—: T UfifyE €, @
e +e -

(1) THSI T W STBTF Tel B

(2) °T=BIEE § WY THH! T4 g

(3) W TEHES T R T F TBTH B

(4) THH! AU ATVESF T
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75

76.

Let a, b, ¢, d and e be real numbers such

thata>b>0and c>0. If l, l 1 are in
a b ¢

AP.,b,c, darein GP. and ¢, d, e are in
2

AP, then aéb—ﬁ? is equal to :
s

1) Jde
(2) e
@) d ‘
4) c

11 b; by
Let A= 0 1] and B= by byl|” If

10A19 + adj(A%) =B, then b;+b,+by+by

75,

76.

qMla, b, ¢, d 91 e T sTfas =m0 € T
a>b>0ddM c>0%FI qﬁ:lllm
a b-c

T 5E H €, b, ¢, d TF TONK F21 § ¥ 7

2
c,d,e@W%ﬁﬁﬁ%‘,?ﬁ—L

@a-br
g
1) Jde
@ e
@) d
4 «c

1 1 b; by
T A=|q q| TB=|y, 1 afe

10A10+adj(A1%) =B 8, @ by +b,+b;+b,
AT

(1) 92
) 111

3) 112
) 91

n ')n 10 —l n 2n 10 1
77. If b(k) = ———, then —— g | 7T Al oK) = g e
kgl o4 k§1 ¢ (k) kgl B k§=:1 L
equal to : TR &
(1) 220 (1) 220
55 55
2 g 2 13
(3) 110 @) 110
i1 11
@ 3 @ 35
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o x N e < X
78. The number of points, at which the two | 78. 31 feigatl =1 Ho Rl 31 9% y = ) =
curves y = 9x_9 and y=sinmx intersect, is : y = sinmx Ya=8 F7 g2 3
1 199 (1) 199
(2) 198 (2) 198
(3) 200 (3) 200 ==
4) 99 4) 99
sinx cosx tanx sinx cosx tanx
79. Kf()=|x x* x| then 79. =% ¥ x |EA
2% 1 1 | 2 1 1
lim f&) 5. lim SO g
x—=0 _\.3 x—0 x'_’
1 -1 M =1
(2 0 2 o
@ 2 @) 2
4 1 4 1
80. The set of all non-zero real values of k, for | 80. k= 5,;-:1;11 SrtaF "HE HT =, ISEED
Whichthelines'1._4=‘U_6=:_§ TA?:TQ:{ETQ"\‘_4=‘I/_6=Z—8 adgr
2 2 — 2K 2 S
) _ et P _— s "
andl;=y 8=Z 10are .172=}/ 8=z 1OW%:
2k~ 4 2 2k~ 4 2
coplanar :
(1) 1is asingleton. 1) TF &d 9= gl
(2) contains two points. ) ¥ orEEE ¥
(3) contains more than two points. @) "W ifuw e T
(4) is an empty set. (4) T R aq=a ¥
-00o- -o0o-
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Q1. Draw mirror image

DRAWING PART

Q2. Draw a design using 2 triangles, 1 circles and 2 squares using dark color scheme .

Q3. Its your birthday, birthday celebration is going on. Draw the view and color it.

/20

/20

/30



ANSWER SHEET

1) 11) 21) 31) 41) 51) 61) 71)
2) 12) 22) 32) 42) 52) 62) 72)
3) 13) 23) 33) 43) 53) 63) 73)
4) 14) 24) 34) 44) 54) 64) 74)
5) 15) 25) 35) 45) 55) 65) 75)
6) 16) 26) 36) 46) 56) 66) 76)
7) 17) 27) 37) 47) 57) 67) 77)
8) 18) 28) 38) 48) 58) 68) 78)
9) 19) 29) 39) 49) 59) 69) 79)

10) 20) 30) 40) 50) 60) 70) 80)



